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(MBEHAREERL, AT NETETBAK

> exam <- read.csv("ch3_renshu-1.csv")

> exam
AR EHIEBROGR
1 1 20
2 3 40
3 10 100
4 12 80
5 6 50
6 3 50
7 8 70
8 4 50
9 1 10
10 5 60
> plot(exam$ 5L, exam$ EHHRDEFR)

(B)VOREKHREKRD, Chhoandi Lz~

> taste <- read.csv("ch3_renshu-3.csv")

> taste
HERRMIRIRD HRMNERH
1 : R
2 me FiR
3 ne R
4 B R
5 ne ER
6 R B
7 R B
8 me ER
9 B HRE
10 8 B
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exam$sars

> table(taste$ ¥ BIRMNFRIRH tasteS H M ETHY)
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(2) HEREERD, b NdIETBE

> cor(exam[,1], exam[,2])
[1] 0.9092974

FARAR AN ISR L ME TH S D THRIREFRE & #
HEROB{AOMICEEDEERLHS.

(M) T71REBERD, ThhoahdiedidAL

> wayou <- ifelse(taste$ERIRMFBIRMN=="%8",1,0)
> wayou
[1110010110110101001100

> amakara <- ifelse(taste$ HmMFERMN=="H%",1,0)
> amakara
[1110110000111100100100

> cor(wayou, amakara)
[110.3015113
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=7,

> amakara <- ifelse(taste$ H =M FERMN=="F53",1,0)
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= o _ ceiling(1.5)
runif(n=10, min=0, max=6)
BEAOHOEDT—HLFFICRITNDHAEEN . . P _
EEoTND. > die <-ceiling(runif(n=6, min=0, max=6))
i AEAR > table(die)
- die
12345
11112
> die <-ceiling(runif(n=600, min=0, max=6))
> table(die)
die
12 34 5 6
15 100 97 109 96 108 90 18
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> set.seed(1)

> die <-ceiling(runif(n=6, min=0, max=6))
> table(die)

die

2346

2112

> set.seed(3)

> die <-ceiling(runif(n=6, min=0, max=6))
> table(die)

die

2345

2121
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445 ERDH

> curve(dnorm(x, mean=0, sd=1), from=-4, to=4)
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dnom(x, mean =0, sd = 1)

> curve(dnorm(x, mean=0, sd=1), from=-4, to=4)
> curve(dnorm(x, mean=1, sd=1), add=TRUE)
> curve(dnorm(x, mean=0, sd=2), add=TRUE)

brm(2, mean=0, sd=1)
05399097

orm(1, mean=0, sd=1)
2419707

rm(0.5, mean=0, sd=1)
3520653
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451 Bk it
b= 2/3 13

> barplot(c(2/3, 1/3), names.arg=c("B 4", "& 14"))
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447 ERBEEICEMBELHMEZTS

> rnorm(n=5, mean=50, sd=10)
[1] 38.47868 51.95783 50.30124 50.85418 61.16610
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> sample <- rnorm(n=10000, mean=50, sd=10)
> hist(sample)
Histogram of sample
20 A‘D 60 80
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